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1. Three classification of alkanols

A. primary alkanols: these are the types of alkanols which in carbon in which the OH- group is connected to only one carbon atom
                           H  H  H

E.g :  Ethanol-HC-C-CH

                             HOH H  

2. Secondary alkanols:these types of alkanols are the ones which the carbon atoms that the OH group is connected to is also connected

           H H  H

E.G:HC-C-CH
          HOHH

3.Taitary alkanols: these ones have the carbon atom in which the OH group is connected to three other carbon atoms

E.g:2 methylpropan-2-ol-
   H H  H  

HC-C-CH
                   H CH3 H
2.CH3+CH2CH2CH2C=OCH2CH2CH3

Using methyl magnisum oxide as your grinded reagent

CH3MgCl

Using dethylether

                                                       El2O              CH3 

Step 1 HaC4-C-C3H7+Ch3MgCL____   HaC4-C-C3H7+MgCL  

                        O                                                    O

                                    CH3                                                       CH3
Step2:HaC4—C—C3H7+HCl(aq) +Mgcl__HaC4-C-C3H7+MgCL2                                                     

                           O-                                                          OH

4.Whenever alkanols are reduced, it gives a primary  alkanol

Whenever Alkanones are reduced, it gives a secondary alkanol

Reducing agents that can be used i.e LiAlH4 or NaBH4 

E.g:propanol+2[H]__propanol

   H H O  
 HOH

HC-C-C +2[H]___HC-C-C-H

 H H H                      H H H

Propanoe+2[H]__propan-2-ol

   H      H                   H  H  H

HC-C-CH+2[H]___HC-C-CH

  H O H                       HOHH

Addition of Steam,H20(g)

The addition of steam to alkenes is used in industry to make alcohols   .Steam and gaseous alkene, in the presence of concentrated phosophoric acid as the catalyst are reacted at temperature of 330 degree Celsius and a pressure of 6MPa. When the alakene is ethene, the product is ethanol. However, the ethanol found in alcoholic drinks is always produce by the fermentation of the glucose 

 H        H          H3PO4      H    OH

    C==C  +H20______ H-C---C---H     

H         H                             H   H
